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L.(-a)’«(-a)'-a’= f(-x7) H(=x)7=
2.(—2X2y)3_8(X2)2'(_X)z'(_y)3:
3.(2¢)° - (ZlTabcz) « ( —2ac) = $(2x7)% +2x =
1 >\ (1, 1y _
4.(—7)( y) (?X —2xy+? =
1y 3
5.[(—7) |2+ (m-3.14)°-(-2) =
6. ( )+ ( —4xy) =12x’y —8xy.
7.(a*-10)(a*+7) =
8. & x™ =2, Mj(2x™)* = s A 647 x87 =2" I n=
9. ( —8)™* x (0.125)™ =

10. @1 ab® = =3, 0] —ab(a’b’ —ab’® -b) =
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A (a)t=(a")’ B.2x" - 5x* =10x°
C.(-e)'+(-c)=-¢? D. (ab®)? =ab®

12. A2 E A 1 2 ).

A (x+2y)° =x* +4y’ B. (x+5)(x-2)=x"-10
C.(=x+y) =(x-y)’ D. (x+2y)(x-2y) =x" =2y’
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A. 34500 =3.45 x10* B.0.000043 =4.3 x10°

C. —0.00048 = —-4.8 x10 * D. —340000 =3.4 x10°

14.¥|a=%ﬁifﬁ’z§5{ﬁ(a—4)(a—3)—(a—l)(a—3)ﬁg{ﬁﬂ‘7( ).
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15. B a+b=2,ab= =3, a> —ab +b [N ( ).

A 11 B. 12 C. 13 D. 14

16. EL128a°b" +4a"b” =7b” A4 m n MMER( ).

A m=4n=2 B.m=4,n=1 Cm=1,n=2 D.m=2,n=2

17, — A E B RIGIN 3em , & A TR N 39em ™, 1A IE 5 T 1 2 ( )-
A. 8 cm B.5cm C. 6¢cm D. 10 em

18.%x+1;=3,mux2+:—za@fm< ).

A9 B.7 C. 11 D.6
19. 45 x* —mxy + 9y AT I M m R ().
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23.(3x =2y +1)(3x -2y - 1)

24, (x+2y) " (x=2y)" = (2x+y)*(2x-y)~
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25.4(x*+y)(x* —y) - (2x* —y) ", Hr x=2,y= -5.

A BEB(HIAL 5,12 %)
26. EAI— LT PRLLZ T a® +4a -3, iR alJE 2a + 1, Rl 2a +8 3R ix A
£ 153k,



27. 5 (x7 +nx +3) (x> =3x +m) EITR AP A S <2 F1 < 1, 5R mon (14.

28. Bl mx> —60x +25 = (nx —5) 7, X HHAE m.n (1H.
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29 i (a-1)(a+1)(a® +1)(a* + 1) B FER

JEEl=(a® - 1)(a’ +1)(a* +1) = (a* = 1)(a* +1) =a® — 1 ; #4510 fff At 722,
HTITEAEXMITELSE R (a-1)(a+)(a*+D)(a* +1)(a® +1) - (a™+1) =
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